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Please check that this question paper contains 24 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 23 questions.

Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i)  This question paper contains three parts A, B and C.
(ii) Part A is compulsory for all.

(iii)

There are two parts. Part B — Financial Statement Analysis and Part C -
Computerized Accounting. Attempt only one Part.

(iv) All parts of a question should be attempted at one place.
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aT - %
PART - A
(AT GHT qT St % e araie)

(Accounting for Partnership Firms and Companies)

T, ShiFeT 99T S Ueh B o 9IEeR & | 3= 3197 HehH Hifeieh 3579 bl B H U AERR
AT | 3T 310 3T o foTw v Ut o @t MiiHem st AT o | JERR o 9 uee
35T 7 12% a1eh SATST l 3T H TH &1 T 3,00,000 T 0T <A1 §T AT | 319 H T ol@mdTe

T 91 W I T @ ¢ o6 01T W 6% i I T AT Sl P {6a1 ST | .7 ST o
T &l € 2 30 TR o THAT | HROT T |

Prachi, Komal and John were partners in a firm. They admitted Ajay their landlord as a
partner in the firm. Ajay brought sufficient amount of capital and his share of goodwill
premium. Ajay had given a loan of ¥ 3,00,000 @ 12% p.a. interest, to the partnership
firm before he became the partner. Now the accountant of the firm is emphasizing that
the interest on loan should be paid @ 6% p.a. Is he right in doing so ? Give reason in
support of your answer.

T 73 GEER & Y991 T, Y91 o qay fefa-foeror § S9id & 9e= 999 99 & Gl
17 o STAT H sl ST

(37 M- fafasH @ g |

(@) | WEER % Ui @ 7 |

(@) R HEERI % S o |

®) T @ H |

When a new partner is admitted, the balance of ‘General Reserve’ appearing in the
Balance Sheet at the time of admission is credited to :

(a) Profit and Loss Appropriation Account.
(b) Capital Accounts of all the partners.
(c) Capital Accounts of old partners.

(d) Revaluation Account.

AY-B1 fafaee @ g ary-eiiF 3 @’ | FHT ST |

Differentiate between ‘Profit and Loss Appropriation Account’ and ‘Profit and Loss
Suspense Account.’



67/2

T URRER % TN TeUl & W TAHedihd W g & GdFt = % A § &t
U“ITQTﬁ : 1
(3) A TTHRT TEUT HA el AEER & Isit @l | |

@) T WRRRI & UST @il § S /A o fos S

(@) 9 GERRI % ST @il § S 7 oy ot s o |

@ U9 WEER % ST W § 39 [ A [ s H |

At the time of retirement of a partner ‘Loss on Revaluation’ is debited :

(a) only to the capital account of the retiring partner.

(b) to the capital accounts of all the partners in their old profit sharing ratio.

(c) to the capital accounts of the remaining partners in their new profit sharing ratio.
(d) to the capital accounts of remaining partners in their old profit sharing ratio.

39 @ H AW ST 9 G ROTET % Y 6 UvEd SROOS IiET §@9g 9
TN fohar STar € | 1

Name the account to which the ‘Balance of Debenture Redemption Reserve’ is
transferred after all the debentures have been redeemed.

fifae Gt =1 o8 9T T Shalet ST % THIOH & 0 & SUANT {ohar ST Gehal &, Faetra

3 1
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() Efea i

(W) e g |

@ U S |

The part of issued capital which can be used only at the time of winding up of the
company is called :

(a) Nominal capital

(b) Reserve capital

(c)  Subscribed capital

(d) Capital Reserve

1 3T, 2012 T TH FAH! = 100 T % 4,000, 9% O H T 10% % g W F0 | 37
FOTOET ST TN 10% o WHAH T AT A1 | FHOET h1 941 & SFAR 31 A, 2014 F I&
Y HHH! Pl TWMER Aqad ol IR § 5T ¥k 312061 I & §RT T 40,000 F FOTIA
e HEAT T | 3
31 AT, 2014 H BT 7 Gl IR G IMET FH o T T 32,000 o FOTTA F 5T
% 95 T 09 71 T 8,000 3 FOTHAT 1 37 T 90 Wi ROTTH fhaT | 367 W) T 1,000 I AT
TG |
9% SRUTOST o e 3 [oTT ST ST Hiaredr Hig |
On 1*" April, 2012 a company issued 4,000 9% debentures of ¥ 100 each at a discount
of 10%, repayable at a premium of 10%. The terms of issue provided for the
redemption of ¥ 40,000 debentures every year commencing from March 31%, 2014,
either by purchase from open market or by draw of lots at the company’s option.
On March 31%, 2014, the company purchased for cancellation its own debentures of
the face value of ¥ 32,000 at ¥ 95 per debenture and I 8,000 at ¥ 90 per debenture. The
expenses of purchase amounted to I 1,000. Record necessary journal entries for
redemption of 9% debentures.
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‘Nandan Ltd.” is a manufacturer of heavy machines in a town of Telangana. It follows
high standards of environment safety in the process of manufacturing.

The company runs a school to provide quality education and a medical centre to
address health issues of the resident of that area.

The company is doing well and is going to start a new manufacturing unit in
Jharkhand creating livelihood for people, especially those from disadvantaged sections
of the society. In order to raise funds the company decided to issue 50,000 shares of
% 100 each at par and 80,000, 10% debentures of I 50 each.

Pass necessary journal entries for the issue of shares and debentures. Also
identify any one value which the company wants to communicate to the society.

T F R AT 39T @ 3 1,00,000 &, THH 3T SR W STe9-oAlhd I 40,000
Wieh Wit & | =a@™ | T 6,30,000 1 UST FEeT & T G o 5T 5% | ey
o U= UM o U 0 TH I AT 3 T0MET HIMT |

The average profit earned by a firm is ¥ 1,00,000 which includes undervaluation of
stock of ¥ 40,000 on an average basis. The capital invested in the business is
% 6,30,000 and the normal rate of return is 5%. Calculate goodwill of the firm on the
basis of 5 times the super profit.

AT fAMEE = T 500 T % 9,000, 9% FOTH & (AT 10% & T3 O 6T | 37 0T
T G 5 T % TLAR 10% o WHETT R HET & | FHT 06l 90t o SER T 350 U oo
AT U S &7 qAT I T YA FOTIHT o ST I BT T |

9% FOTIH o A o T Tareareh T wafteat S |

Alka Ltd. issued 9,000, 9% debentures of ¥ 500 each at a discount of 10% redeemable

at a premium of 10% after 5 years. According to the terms of issue ¥ 350 per
debenture was payable on application and balance on allotment of debentures.

Record necessary Journal entries at the time of issue of 9% debentures.
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TS/, YT @7 31T U ®H o WIERR o a7 3:2:1 % U H ot sied o | 31 HE, 2014

T 37T TATq-fereror f1 T o
SIRAt T qAqtaat T
® ®
37 oot 1,20,000 | qpe & 20,000
TER 1,40,000 | IR 1,40,000
FG HT 5% FOT 1,00,000 | 9 foet 70,000
T 1,80,000 | 1,70,000
IS fqerer 1,30,000
gl 2,00,000 o= 3taT @ 1,20,000
HH 1,20,000 9o 2,90,000
=T 80.000 | 4,00,000
9,40,000 9,40,000

12 S, 2014 I H 1 LT &1 T T RN Gol@ & AR 39k R 1 - 3

ar .

(31) 3D Tg i T I & & AN T ITH 90T S AT U 1 W gT a6t &
T T % SMER 0 SR |

(F) H B ST H IGHT 9N HR 0T el I a6t & Pl A & S a6 b HF B
YR T 1 STRAT |

(@) e dF adi & @y 9 ;T 30,000 ; T 70,000 74T T 80,000 |

3Gk ToAIEehT T WG e & [oTT e T ISt T AR Iy |

Priya, Karam and Anna were partners of a firm sharing profits in the ratio of 3 : 2 : 1.

Their Balance Sheet on March 31, 2014, was as follows :

Liabilities Amount () Assets Amount ()
Bills Payables 1,20,000 Cash in hand 20,000
Creditors 1,40,000 Debtors 1,40,000
Karam’s Loan @ 5% 1,00,000 Bill Receivable 70,000
Reserve 1,80,000 Stock 1,70,000
Capitals : Investment 1,30,000
Priya 2,00,000 Advertisement
Karam  1,20,000 Suspense Alc. 1,20,000
Anna 80,000 4,00,000 Building 2,90,000
9,40,000 9,40,000

Karam died on June 12, 2014, and according to the Partnership deed his executors
were entitled to be paid as under :

(a) His share in the profits of the firm till the date of his death which will be
calculated on the basis of average profits of last three completed years.

(b) His share in the goodwill of the firm which will be calculated on the basis of two
years purchase of total profits of last three years.

(c) Profits for the last three years were : I 30,000, ¥ 70,000 and ¥ 80,000.

Prepare Karam’s capital A/c to be rendered to his executors.

5 [P.T.O.
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Alok, Narendra and Shiv were partners in a firm sharing profits in the ratio of 5: 3 : 2.
Goodwill appeared at ¥ 90,000 and general reserve at I 50,000 in the books of the
firm. Narendra decided to retire from the firm. On the date of his retirement goodwill
of the firm was valued at ¥ 2,40,000. The new profit sharing ratio of Alok and Shiv

was 2 : 3. Record necessary journal entries on Narendra’s retirement.

13. 9o, TIST a1 SoITeH Ueh H H {EER & a97 3:2:1 % 30 | o sz 9 1 30 S, 2014
I IR T B (e FH H1 i forar | 39 fafa & wd & fefd-foero e yer g ar: 6

ity ity
FaTt Tt
®) )
TER 50,400 | THE 13,700
fereT IaR-Fed S 10,000 | @i 20,100
Hfad i 12,000 | &R 62,600
ST BEN 16,000
o 30,000 AR 20,000
I 20,000
Bl 10,000 60,000
1,32,400 1,32,400

TR ot Sgel! T SAATS 1 A 4 TR ¥ <A T
(371) 9@ = T9aeT & T 18,000 H o foram |
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(&) T A RH T 17,500 T o foTar T2 ieq o FHraR Sl e god W of forr |
(#) @RI T 60,500 U g |
(%) SAKRI o YUT I Tohal T T agedt =49 3 4,500 9 |

A G, Ahg TIAT TAT VSRR o Gl @I oA i |

Bhuvan, Suraj and Ibrahim were partners in a firm sharing profits in the ratio of 3 : 2 : 1.
On 30 June, 2014, they decided to dissolve the firm. Following was the Balance
Sheet of the firm on that date.

Amount Amount
Liabilities Assets
) )
Creditors 50,400 | Cash 13,700
Investment Fluctuation Fund 10,000 | Stock 20,100
Reserve Fund 12,000 | Debtors 62,600
Capitals : Investments 16,000
Bhuvan 30,000 Furniture 20,000
Suraj 20,000
Ibrahim 10,000 60,000
1,32,400 1,32,400

The assets were realized and the liabilities were paid off as follows :
(a) Investments were taken over by Bhuvan for I 18,000.

(b) Stock was taken over by Suraj for ¥ 17,500 and furniture was taken over by

Ibrahim at book value.
(c) 60,500 were realized from the debtors.
(d) Creditors were settled in full and realization expenses were < 4,500.

Prepare Realisation account, Cash account and Partners’ Capital accounts.

7 [P.T.O.
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31 9T, 2014 I T TAT 3TEIT FI FHIEST H & TG T, T 721 F09 & Gofl @i
T %EE % 1,60,000, % 1,20,000 T T 1,60,000 I & | THeh U¥EAN] I TN Tk GSH A<

STETOT W AT T&l AT T € |

31 HTE, 2014 1 GHT g 9 &1 o T 60,000 T |

Y R H A AT THT e o SRIR-SRIER [Hedl § Uedish H1E o Hed § FoA T 48,000 H

30T TohAT qAT =H = SRTeR fh¥al H Uedeh HIE o 371 H Hl T 36,000 T STER0T THaT |
M W 8%, A 5T H TS AT AT AT YsT T 10% ST 3T & AT ST T |
TEITRT % Hed T forwiot 31T 1:2:1 T |

3T FHRFHRT T 1 T ®Y I 9 g, STavash IREne Aafte Hifsw |

On March 31%, 2014, the balances in the capital accounts of Raman, Naman and
Chaman after making adjustments for profits and drawings were I 1,60,000,
% 1,20,000 and % 1,60,000 respectively. Subsequently it was discovered that interest on

capital and drawings had been omitted.
° The profit for the year ended 31% March, 2014 was T 60,000.

o During the year Raman and Naman each withdrew a total sum of ¥ 48,000 in
equal installment in the middle of every month and Chaman withdrew a total

sum of ¥ 36,000 in equal installments at the end of each month.

o The interest on drawings was to be charged @ 8% and interest on capital is to be

allowed @ 10% p.a.
o The profit sharing ratio among the partners was 1 : 2 : 1.

Showing your working notes clearly, pass the necessary rectifying entry.
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(a)

Fill in the blank spaces in the journal entries given below :

Date

Particulars

Cr.®

Share Capital A/c. Dr.

_______________________ Dr.

To Share Forfeited A/c

To Share Allotment A/c

To Share First Call A/c

(Being 2,000 shares of I 10 each
% 8 called up issued at a premium of
%3 2 per share forfeited for non-
payment of allotment of ¥ 5 per
share including premium and first
call of ¥ 2 per share)

Bank A/c. Dr.

To Share Capital A/c

(Being 1400 shares reissued for
% 19,600 as fully paid up).

Share Forfeited A/c. Dr.

To Capital Reserve A/c.

(Being profit on reissue of forfeited
shares transferred to capital reserve)

19,600

11

[P.T.O.



(b) Fill in the blank spaces in the journal entries given below :

Date Particulars F Dr. Cr.
® ®

Share Capital A/c. Dr. 80,000

To Share Forfeited A/c. | | | e

To Share first call A/c. 60,000

(Being 1000 shares of ¥ 100 each,
T 80 called up issued at a discount
of 10% forfeited for non-payment
of first call)

Bank A/c. Dr. 56,000
————————————————————— Dr. —mmmmee
Share Forfeited A/c. Dr.| | -

To Share Capital A’c. | | | -

(Being 800 shares reissued at I 70
per share I 80 paid-up)

Share Forfeited A/c. Dr.| | -

To Capital Reserve A/c. | | | -

(Being profit on reissue of forfeited
shares transferred to capital reserve)

67/2 12
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31 |, 2014 i 31 qe fo=n o1 feafa-faeror =1 uer o -

. T o iy
bl ® ®

TR 26,000 | 5% 20,000

HEART i fy 16,000 | =% 30,000
FHER & ffe 30,000| ITRR 44,000

TSt T ;A FON

foTT grere 2.000 | 42,000

g 1,10,000 T qAT TR 1,20,000

fomm 60.000 1,70,000| =i 20,000

TTY-EI @ 10,000

2,42,000 2,42,000

wﬂw%ﬁaaﬁmﬁ%wﬁﬁiw%%ﬁwmﬁw%aﬁmﬁﬁ%mw:
(30 ¥ 2,900 % A HOT Puferrad ford SR |

fo=m = Wi 1 T 35,000 § o foram |
T AT T Gediwa T 40,000 T AT | Fam eroe i bt wnfa wigay A
A |

Fave STk ISt oTm T 919 WIRiRRT bl ISit Rl qHIENT fa=a= &l JSil & 3TMER
W T T | T fole ferfd SR WERR Wk TR STHeT IAH RS H A

C))
)

®

e T |

AT Tl T TTRIRRT % Ui T GaR i |
Following is the Balance Sheet of Amit and Vidya as at 31* March, 2014.
Liabilities Amount Assets Amount
Creditors 26,000| Bank 20,000
Employees Provident Fund 16,000| Stock 30,000
Workmen’s Compensation 30,000| Debtors 44,000

Fund Less : provision for
Capitals : bad debts 2,000 42,000
Amit 1,10,000 Plant and Machinery 1,20,000
Vidya 60,000 1,70,000 | Goodwill 20,000
Profit and Loss Account 10,000
2,42,000 2,42,000

On the above date Chintan was admitted as a partner for 1/4 share in the profits of the
firm with the following terms :

(a) 2,900 will be written off as bad debts.
(b) Stock was taken over by Vidya at ¥ 35,000.

(c) Goodwill of the firm was valued at ¥ 40,000. Chintan brought his share of
goodwill premium in cash.

13 [P.T.O.



(d) Chintan brought proportionate capital and the capitals of the other partners were
adjusted on the basis of Chintan’s capital. For this necessary cash was to be
brought in or paid off to the partners as the case many be.

Prepare Revaluation Account and Partners’ Capital Accounts.
Igar/OR

YT, YT TAT THeTel U H o WIERR & q91 AT 50%, 30% 9T 20% o sed & |
31 |, 2014 1 37T Fefa-fgager =1 yepr o

. T o it

eIt © gt ©
S 34,000| Thg 68,000
e Aty 10,000| & 38,000

TereT IaR-FemE Aty 20,000 | 3ER 94,000

TSt T WIEEH 6.000 88,000
AR 1,40,000 BEN 80,000
L 80,000 i} 40,000
— 50.000 2,70,000 | oy_aihy 20,000
3,34,000 3,34,000

ST ot B HGX A STEHIT WEuT T e ieher qen etet 4 e ot W wH @l Al
T 1 o forar

(37) Y @ @A T Godiwd T 1,02,000 AT T qAT WYY o ST B @A BT GHAS BH
i =] Ta ATel HIERRT o Ysil @i | [ S |

(@) HER &idqgid &1 T 12,000 T 1 TH 6T 97 q41 FHAwT & T 30,000 7% F Ha
I |

(@) I O & ot wrerem &t 3 2,000 F T fHar S |

(@) TG T 20,600 HT TG PIAA HAT AT TG I HT ITH HOT G H AR B
feam S, et A 31 SR1eR fRvat B 10% Wiaed bt 4TSt Y |ied fohar ST |

(@) AR qAT RISl i YST Bl 3 AT STUTT | FHAST foha ST | 5es fow s
T fefd gRTr 91 A 918 AT QT 31 9 1 T fhar S |

JHER @Il 9T FIERRT % YsT @ 7ar Hif |
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Lokesh, Mansoor and Nihal were partners in a firm sharing profits as 50%, 30% and
20% respectively. On 31" March, 2014, their Balance Sheet was as follows :

Liabilities A“zg;‘“t Assets A“zg;‘“t
Creditors 34,000| Cash 68,000
Provident Fund 10,000 Stock 38,000
Investment Fluctuation Fund 20,000| Debtors 94,000
Capitals : Less : Provision 6,000 88,000
Lokesh 1,40,000 Investment 80,000
Mansoor 80,000 Goodwill 40,000
Nihal 50,000 2,70,000| Profit & Loss 20,000
3,34,000 3,34,000

On the above date, Mansoor retired and Lokesh and Nihal agreed to continue on the
following terms :

(@) Firm’s goodwill was valued at the ¥ 1,02,000 and it was decided to adjust
Mansoor’s share of goodwill into the capital accounts of the continuing partners.

(b) There was a claim for workmen’s compensation to the extent of ¥ 12,000 and
investments were brought down to ¥ 30,000.

(c) Provision for bad debts was to be reduced by I 2,000.

(d) Mansoor was to be paid T 20,600 in cash and the balance will be transferred to

his loan account which was paid in two equal instalments together with interest
@ 10% p.a.

(e) Lokesh’s and Nihal’s capital were to be adjusted in their new profit sharing ratio
by bringining in or paying off cash as the case may be.

Prepare Revaluation Account and Partners’ Capital Accounts.

17. R feAfHes ot ustishd Ostt € 10,00,000 & ST T 100 Tk o GHAT 3790 § favemd & | e
T ST T 84,000 39T T MHFH 9T FHT T o1 U&aTd fhar | it e R 9 3T o

AT W- T 30 Wi 3797

e W- T 40 Wia 3i9T (hitqaw afea)

T qAT 3T o1 W= 3 50 Ui 3797

80,000 3791 % feTT 37res e U |

e 1 rgeT Tt e T & e

200 37T & U YR, TG 3T qT AT 9T BT A el AT |

400 3791 % TS YR, TRY = AT AT BT PIAT el (b |

FHIAT 5 TG T IR F S BT 207 FH T |

3k g &X0T fohd T 379N Wi T 80 Wit 39T YUt uewt g Fitee Y T |

SR AT & (1T HHT 1 Wehg Fal T TSI H Hfafeat Hity | 8
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Dogra Ltd. had an Authorised capital of ¥ 10,00,000 divided into Equity shares of
T 100 each. The company offered 84,000 shares to the public at premium.

The amount was payable as follows :

On Application — X 30 per share

On Allotment — X 40 per share (including premium)

On First & Final call — X 50 per share.

Applications were received for 80,000 shares.

All sums were duly received except the following :

Lakhan, a holder of 200 shares did not pay allotment and call money.
Paras, a holder of 400 shares did not pay call money.

The company, forfeited the shares of Lakhan and Paras subsequently, the forfeited
shares were reissued for I 80 per share fully paid-up. Show the entries for the above
transaction in the cash book and Journal of the company.

3ar/OR

HET e [Aes 7 T 10 U9% & 1,00,000 THAT WM BT 10% g O 1ET fmar =i T 2
3EET 9T, T 3 3MEeT W A T 2 AW q7 aH I Ui W ST 4T | 1,50,000 373 %
o0 STMeR U U 1 50,000 379N & STERERI T WI-UF WS ST TT qAT 3R AT AUF Y
YT |

TR, Ueh SVTRSE = 39 3,000 379N U 3eie TRT T P &t fohan, 39 29 reT
T A T AT o 91 Y S |

Teh 3TURe, e, fSTaeh ar 700 3197 9, F <1 JraTeT 6l I Tee % Qe
<o |

TF SRTERe, T, T8 T 1,000 37T &, F J2r| 71 3| IredT & SJIae Tal
oA | 3Tk 379N T T AT TR T | EOT TR T ST @l T 11 Wi 37T 9O WeW O
it e fear |

SURIERT ST o T AT bt G&Aehl | STEvdeh ISHIHET Uiafeedr hiteiw |

‘Kaya Fab Ltd.” issued 1,00,000 equity shares of ¥ 10 each at a discount of 10%
payable as ¥ 2 on application; ¥ 3 on allotment and ¥ 2 each on first call and final call.

Applications were received for 1,50,000 shares. Applicants of 50,000 shares were sent
letters of regret and application money was refunded. Madhur, a holder of 3000 shares
failed to pay allotment money which he paid along with the first call.

Rohan, a shareholder holding 700 shares paid both the calls along with allotment.
Sohan a holder of 1000 shares did not pay the first call and the final call. His shares
were forfeited. The forfeited shares were reissued at ¥ 11 per share as fully paid-up.
Pass necessary journal entries for the above transaction in the books of the company.
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1 -9
(fersbea-1)
PART -B
(Option-1)
(fareitar feraeutt &t faverom)

(Analysis of Financial Statements)

18. ‘off Timee’ Tooot H UohioTT o1 =4add Hidl o 991 Usel auf § ST 3T o 3Tieid
fepam | HEET 31O FadT H faRaR AT dedr o 99T 39 foft 39 sifaie fad @l
SMEATIAHAT &Y | STIAT SATAHATST Bl T A o eI HHHT 7 T 30,00,000 F FTHAT 3790
s fam | 28 T 20,00,000 Ht TH FHHRIHd G99 1 5T a1 | 394 T 2,00,000 Ht
YT BT et HTeT off WIRT | Te] 99 H BT B I o T 15,00,000 2T |

ST TS | TR Tiareliedl gRT Uehg Jellg’ 37d Shifey | 1

‘Shri Ltd.” was carrying on a business of packaging in Delhi and earned good profits
in the past years. The company wanted to expand its business and required additional
funds. To meet its requirements the company issued equity shares of ¥ 30,00,000.
It purchased a computerized machine of ¥ 20,00,000. It also purchased raw material
amounting to I 2,00,000. During the current year the Net Profit of the company was
3 15,00,000.

Find out ‘Cash flows from operating activities’ from the above transactions.

19. Hiact fatmees’ U foxie ST & | o1e] a9 § T {3 T T /0T T 41T o e
TIfeT i febg TiiATaty o ST S9ET SRR 2 1

(31 Frerer nidfafy |
@) fa<iig nfafary |
@) forda q°r v S et |
@) U= Ty |

‘Koval Ltd.” is a financing company. Under which activity will the amount of interest
paid on a loan settled in the current year be shown :

(a) Investing activity
(b) Financing activity
(c) Both Financing and Operating activities

(d) Operating activity

67/2 17 [P.T.O.
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oo

FrfeiEd ot | el GHTa-0T SUTd S T ST

4
fafafsTe goit 22,50,000
foyerer 1,20,000
qm 10,00,000
AT mfeat 3,00,000
s TAT Xhg oo 1,80,000
AT ST ISt 10,50,000
8% FOTTH 8,00,000
ECURER) 2,60,000

MM (eM-g1 faraRoT 1 9) (35,000)

From the following information, calculate Total Assets to Debt Ratio :

4
Capital Employed 22,50,000
Investment 1,20,000
Land 10,00,000
Trade Receivables 3,00,000
Cash and Cash Equivalents 1,80,000
Equity Share Capital 10,50,000
8% Debentures 8,00,000
Capital Reserve 2,60,000
Surplus (Balance in statement of profit and loss) (35,000)

18
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22

67/2

(30) HEAN Y=, 1956 N A VI, 9T [ & SFER 9 A% 5 g i e
3U-3MhT o ST AT o e foreror & gure S - 4
() % ety
(i) TR qor Wy
(i) sve
(iv) Toft ==

(@) foreia foaror fawetowT o fohel 3T S29al T Sooig HINT |

(a) Under which major headings and sub-headings the following items will be

shown in the Balance Sheet of a company as per schedule VI, Part I of the

Companies Act, 1956.
(1)  Bank overdraft.
(i1)  Stores and spares.
(iii)
(iv)

(b) State any two objectives of financial statements analysis.

Bonds.

Capital Reserves.

FfeTa “Aferdr goiaei-og Taifiee” ol Ve Feemd o1 | a8 ST & [l 3Tesl o a9 o
AT T T AT | 20 ATaeh STRENa & &0 H 98 {07 SR i go9id o | favarg
TEAT 97 | 98 Ueh UHT Ate o7 T8 3Rl Tmsedl dliohl ¥ el o1 TR T i STeI9aehdl
H TEIHT | Al oiaierd feifHes’ &1 31 |, 2013 AT 2014 I THT §C a6t 6

AT T JeHTeH a0l 7 TR ¢ 4
oo e | 2012-13 | 2013-14 fraer | % ufads
g @ | RS
®
e ¥ 3T 14,00,000 | 18,00,000 |  4,00,000 | 28.50
0T FHER! feqemy =g 4,00,000 | 5,00,000 | 1,00,000 | 25.00
X S T 10,00,000 | 13,00,000 |  3,00,000 |  30.00
F @ 30% 3,00,000 | 3,90,000 90,000 |  30.00
T qLEI o 7,00,000 | 9,10,000 | 2,10,000 |  30.00

(3T) 31 T, 2013 T 2014 H AN & AT a6 o {10 Y S ST Sl TUFT ST |
() SRR et W FHIST 1 TR 6T S ot 6=l &1 Jedi i o Hiy |

19

[P.T.O.




67/2

Nishit was the Managing Director of ‘Lalita Electronics Ltd’. He had been earning

good revenues and profits for the company. He believed in giving respect to his

subordinates as his moral responsibility. He was the one who recognized the need to

find ecofriendly ways to treat waste. Following is the Comparative Statement of Profit

and Loss of ‘Lalita Electronics Ltd.” for the years ended 31% March, 2013 and 2014.

Particulars Note | 2012-13 | 2013-14 Absolute | Percentage
No. @ @ Change Change
®
Revenue from Operations 14,00,000 | 18,00,000 |  4,00,000 28.5
Less : Employee benefit expenses 4,00,000 | 5,00,000 1,00,000 25
Profit before tax 10,00,000 | 13,00,000 |  3,00,000 30
Tax @ 30% 3,00,000 | 3,90,000 90,000 30
Profit after tax 7,00,000 | 9,10,000 [ 2,10,000 30

(a)

(b)

above case.

20

Calculate Net Profit ratio for the years ending 31* March, 2013 and 2014.

Identify any two values which are being communicated to the society in the
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67/2

31 |, 2014 i I7 feafaes w1 fefq-faeror = yer o .

2013-14 | 2012-13
faawor
9 (9
[. QAT U7 AT
(1) ivrare fafiat
(2n) 3 i 40,00,000| 30,00,000
(CIEEERCICILCE! 10,00,000]  6,00,000
(2) 3= TTATE
T T 6,00,000|  4.00,000
(3) =T y
(3) AN SqAE 3,00,000|  4,00,000
(&)  TCIHIA T 1,40,000|  1,20,000
HeA 60,40,000| 45,20,000
1.  uRamtaat
(1) 3= gRawtaat
(37) T uRetaEt
(i) o oRemfaE 38,00,000/ 30,00,000
(i) o gt 9,40,000|  5,40,000
(2) e uREtEt
(31) Tk (W) 5,00,000|  3.20,000
(F) AR wit 4,20,000]  4,20,000
(F) hg AT AHE T 3,80,000|  2,40,000
el 60,40,000| 45,20,000
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i ¥ e

. - 31 3();014 31 3();013
1. | 999 wd ey
3R (G-I TaxoT =it o) 10,00,000 6,00,000
2. | CTIHTCA W
HT AT 1,40,000 1,20,000
3. | T uRewtaat
ENIEN 42,00,000 33,00,000
T e (4,00,000) (3,00,000)
4. | 3T uRgiaat
e 9,40,000 5,40,000

=TT TaESHT 6 &9 § W@ g UHE VaTe a0 R iy

Y % IR T 40,000 AN I Th B, TS0 T THHT Goaa™ T 30,000 2T, T T 9,000
EERERIRic I

Following is the Balance Sheet of Sreshtha Ltd. as on 31* March, 2014.

67/2

Particulars l\li?;e 2013-14 | 2012-13
. ) ()
I. EQUITY AND LIABILITIES
(1) Shareholders Funds
(a) Share Capital 40,00,000| 30,00,000
(b) Reserves and Surplus 1 10,00,000 6,00,000
(2) Non-Current Liabilities
Long Term Borrowings 6,00,000 4,00,000
(3) Current Liabilities
(a) Trade Payables 3,00,000 4,00,000
(b)  Short Term Provisions 2 1,40,000 1,20,000
Total 60,40,000| 45,20,000
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11. ASSETS
(1) Non-current Assets
(a) Fixed Assets
(1) Tangible assets 3 38,00,000| 30,00,000
(i1) Intangible assets 4 9,40,000 5,40,000
(2) Current Assets
(a) Inventories 5,00,000 3,20,000
(b) Trade Receivables 4,20,000 4,20,000
(c) Cash and Cash Equivalents 3,80,000 2,40,000
Total 60,40,000| 45,20,000
Notes to Accounts :
S. No. Particulars As on 31-3-2014 | As on 31-3-2013
9 (9
1. [Reserves and Surplus
Surplus (Balance in Statement of Profit
and Loss) 10,00,000 6,00,000
2. |Short Term provisions
Provision for tax 1,40,000 1,20,000
3.  [Tangible Assets
Machinery 42.,00,000 33,00,000
Accumulated Depreciation (4,00,000) (3,00,000)
4.  [Intangible Assets
Goodwill 9,40,000 5,40,000

Prepare a Cash Flow Statement after taking into account the following adjustment :

During the year a piece of machinery costing I 40,000 on which accumulated
depreciation was ¥ 30,000, was sold for X 9,000.

U - 77
(fapea-2)
PART -C
(Option-2)
(i sraie)
(Computerized Accounting)
18. T ¢9eT | UgHT i ST aTell 7S “hies” I 3T & 1
(31)  2FCT T FeaTe TR |
(@) o B A |
@) oA Bt &t dfe |
() T N HR |
67/2 23 [P.T.O.
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20.

21.

22.

23.

67/2

The term ‘Field’ as applied to database table means :
(a) Vertical column of the table.

(b) Name of the table.

(c) Horizontal row of the table.

(d) Size of the table.

AR ST TUTTAT o el & AT ©
(37)  SAEHNTH THGAT T [OReITor qar TeiEH, detde, w-ei faeror o feafq-faeror
M |

(@) T @i HUTeAT T SATThTeT oi@ieh-T HoTett | ufee |
(@) TSR qd1 Hweaay |
® O U g, Fefueet d¢1 7= |

The components of ‘Computerized Accounting System’ refer to

(a) Analysis and recording of business transactions, preparation of trial balance,
statement of Profit and Loss and Balance Sheet.

(b) Transforming manual accounting system to computerized accounting system.
(c) Hardware and Software.
(d) CPU, Keyboard and Mouse.

Teh FIIE & ST BT 5Hh WA TRIGTT @ D SEahel Bl & 1”59 (CAS) B
T} <t foRaret st THSET S SHaH i MUAIEd i o1 @ § el id ¢ |

‘A business data needs to be guarded from its competitors.” Explain any two features
of CAS which help a business to maintain its secrecy.

1T & [T TRAeRIoT | =1 31 W o fafi= el sl T Shifee |

Enumerate different elements of a chart or a graph in pictorial presentation of data.

2T ST SUANT T §U “Sh-THTIH [Teror I & RO T Sooid HisTT |

State the steps to construct a ‘Bank Reconciliation Statement’ using Tally.

S Rl G A H S S Yol (ST B Al 6k HRUT g% CIWE W e
FIT | 3T 3T bl ThT WK I Toham T el & 2

Identify the ‘Error’ which appears when there are invalid numeric values in a formula
or function. How this error can be corrected ?
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